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QUESTION 1

A customer has purchased two IBM Storwize V7000 systems and would like to implement a system topology that
supports high availability. In the event of a site disaster, the customer requires access to all volumes without a loss of
performance. 

Which IBM architecture will meet the customer\\'s needs? 

A. Enhanced stretched cluster 

B. Transparent cloud tiering 

C. HyperSwap 

D. Volume mirroring 

Correct Answer: C 

Reference: https://www-01.ibm.com/support/docview.wss?uid=tss1wp102538andaid=1 

 

QUESTION 2

Which tool is used to calculate usable storage space for IBM Storwize disk subsystems? 

A. Storage Insights 

B. Disk Magic 

C. Visual Storage Intelligence 

D. Capacity Magic 

Correct Answer: D 

 

QUESTION 3

A customer accumulates massive quantities of data. Customer views the data as "very old data" after 6 months. The
customer does not want to build a massive petabyte structure of spinning disk for access. 

Which IBM solution economically best meets the customer\\'s growth needs? 

A. IBM TS4300 with Spectrum Protect Suite 

B. IBM SVC virtualizing multiple IBM FlashSystem A9000 units behind it 

C. IBM A9000R using IBM Spectrum Protect 

D. IBM Enterprise Tape and IBM FlashSystem 900 with IBM Spectrum Archive 

Correct Answer: C 
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QUESTION 4

A customer is considering implementing a High-Density Expansion Enclosure with IBM Storwize V7000. Which
configuration requirement should the customer be aware of? 

A. It uses four power supplies 

B. It fits in an S42 rack 

C. It uses the C13 power cord 

D. It is CE installed 

Correct Answer: C 

 

QUESTION 5

A customer wants to do application testing in the disaster recovery site located ten kilometers away over 

fiber and wants to use IBM Spectrum Protect Snapshot to create the application-aware clones of the 

database volumes. 

Which two additional features are needed to create these clones? (Choose two.) 

A. Full System Replication Manager 

B. IBM Copy Services Manager 

C. Volume mirroring 

D. FlashCopy 

E. Remote Mirror 

Correct Answer: DE 

Reference: http://www.redbooks.ibm.com/redpapers/pdfs/redp4873.pdf 
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